OFFICE OF THE PRINCIPAL: PANCHAYAT COLLEGE, BARGARH

No. 1909 // Date <u>02/09/2023</u>//

QUOTATION CALL NOTICE

Sealed quotations are invited from the authorised suppliers / dealer registered firms for supply of different laboratory articles to Vocational Department of this college.

The quotation should reach the office on or before 15.09.2023 by 1:00 p.m. The sealed quotation will be opened at 4:00 p.m. on the same date.

The quotation must be supported by valid GST/IT clearance certificate, broucher details specification.

The details of the item list available in the college website www.panchayatcollege.in.

The authority reserves the right to cancel any or all quotations without assigns any reason thereof.

yat College, Bargarh

Sl. No.	Tools
1	Measuring tape/ruler
2	Ladder
3	Scale
4	Square
5	Water Level Tube
6	Spirit Level
7	Plumb Bob
8	Rollers
9	Brushes
10	Paint Bucket
11	Sponges
12	Tack Rags
13	Paint Stirrers
14	Sand Paper
15	Masking Tape
16	Scrappers
17	Putty Knife
18	Chisel Knife
19	Knotting Brush
20	Nail Punch

21	Hammer
22	Dusting Brush
23	Dust Masks
24	Wire Brushes
25	Filling Knife
26	Filling Board
27	Painting Edger
28	Safety helmets
29	Hand gloves
30	Apron
31	Goggles
32	Safety shoes
33	Safety harness
34	Nose mask
35	Knee pad
36	Reflective jackets
37	Fire extinguishers
38	Barricading/caution tape
39	Safety sign boards
	I

Source: PSSCIVE

SL	TOOLS AND	SPECIFICATION	UNIT	QUANTITY	NOS	Category	Indicative	Approx
NO	EQUIPMENT		TYPE	REQUIRED FOR	alignment of tools		budget approx	equipment cost(in rs.)
				SCHOOL	01 (0013		per unit	cost(iii 13.)
1	Disc filter	2 Inch plastic disc	No.	4	AGR/	Major	6500	Rs.
		filter			N1005	-		26000.00
2	Drill machine	Simple drill	No.		AGR/	Major	3000	Rs.
	with	10mm + 6hss			N1005			12000.00
		bitS+ 1 masonry bit, power:						
		300watts,						
		rpm: 2300rpm,						
		voltage-220,						
		motor: copper,						
		No. 4 AGRI						
		N1005 Major Rs. 12,000.00 bits						
		outer body: PVC						
		and metal,						
		domestic drillin						
		machine						
3	Hydrocyclone	Material: Mild	No.	4	AGR/	Major	3500	Rs.
	Filter	Steel, Voltage	140.	_	N1005	Iviajoi	3300	14000.00
		(Volt): 220,						
		Motor						
		Power/Capacity:						
		10 HP						
4	Microtube	25M micro drip	No.	4	AGR/	Major	2400	Rs. 9600.00
		irrigation system			N1005			
		plant automatic self						
		watering garden						
		hose kits with						
		connector						
5	Flush Valve	Material of Taps/	No.	4	AGR/	Major	3000	Rs.
	Size	Stop Valves- Copper Alloy			N1005			12000.00
		(Brass)Type of						
		Tap- Stop Valve,						
		ofTaps/ Stop						
		valves (mm)-						
		15,Finish Of						
		Taps- Nickie- Chromium						
		Plated						
6	Fire	Type Stored	No.	4	AGR/	Major	13000	Rs.
	Extinguisher	Pressure, xtinguishing			N9903			52000.00
		Media Powder						

		Based, Capacity(Ltrs)- 9 Portable Fire, Weight of Filled Extinghuisher (Kg)- 11.5-12						
7	Pump Set	Pump Size(mm): 80x80, Maximum Out ut Head Metres : 26	No.	3	AGR/ N1005	Major	15000	Rs. 45000.00
8	HDPE Pipe	Pipes made from graded raw materials like PE 63, PE 80 and PE 100 of any dimension between 40mm to 180mm	No.	20	AGR/ N1005	Minor	80	Rs. 1600.00
9	PVC pipe	Synthetic plastic polymer of any dimension between 20 to 110mm	No.	20	AGR/ N1005	Minor	600	Rs. 12000.00
10	Lateral line	Superior polyethylene structure of drip lateral pipe with 16mm dia.	No.	40	AGR/ N1005	Minor	15	Rs. 600.00

				Quantity				Approx
	Tools & Equipment	Specification	Unit Type	Per school	NOS alignment Of Tools	Category	Indicative budget Approx per unit	Equipment cost in rs
11[)rip line	16mm Poly-inline tube drip pipe blank PE	No.		AGR/ N1005	Mjnor	15	as. 600.00
12	Screw Oriver set	Screwdriver kit of 8 blades with tester, flat tip: 3.25.4. 5. S Mm, Philips no • O, 1, 2, pocker and extension rod. Bbade material made from manganese steel	No.	14	AGR/ N1005	Minor	290	Rs. 1,160.00
13	Pliers	4-piece pliers set includes 8-inch slip joint, 8-inch bng nose, 8-inch lineman, and 7inch diagonal/side cutting with insulated thick rubber covered handles.		4	AGR/ N1005	Minor	1000	RS. 4,000.00
14 ^E	Blade with	Tubular with Die cast handle. Fitted with 12" Chrome Alloy Steel Blade	No.	4	AGR/ N1005	Minor	270	Rs. 1,080.00
	Measuring	Measuring tape of 5 meter x 19 mm	No.	4	AGR/ N1005	Minor	180	Rs. 720.00
167	Teflon tape	Length : 10 mtr. Width : 1 inch Color : White.	No.	140	AGR/ N1005	Minor	6	Rs. 240.00
17	-	Impulse brass sprinkler with 4 wheel stand	No.	8	AGR/ N1005	Minor	1400	Rs. 11,200.00
18	Ball Valve	PVC AGR/culture ball valve (90x3 inches)	No.	12	AGR/ N 1005	Minor	250	Rs. 3,000.00
199	Spade	Hardened & tempered steel blade with rust preventive coating with a wooden handle, blade size: 140 mm, Length:900mm	No.	8	AGR/ N1005	M inor	650	Rs. 5,200.00
20 k	•	Device with 3 inch blade width/made Of hardened iron	No.	8	AGR/N1005	Minor	ISO	Rs. 1,200.00

		Type of Axes - Felling, Hardness of Axe						
2	Axa with Blade 1	Head - 550 - 650 HV, Material of Axe Head - Steel . Material of Handle (Shaft) - Wood,	No.	4	AGR/ N1005	Minor	400	
		Length of axe head(mm) - 200 - 230, Length Of handle (Shaft) in mm with tolerance +/- 10 mm						Rs. 1,600.00

22	Punching Machine	Material: Steel. Number of Hole- Two hole with puching distance 80mm, Punching Diameter (mm) - 6, Capacity Of Punch-80 GSM Paper (min) (Nos)- 10	NO.	4	AGR/ N1005	Minor	50	Rs. 200.00
23	Pipe Wrench	length of handle (in mm) : 140, Size : 300 mm, Jaw thickness -21 mm, Maximum capacity of Pipe wrench (in mm)- 35- 40, Length of movable jaw(in mm) : 160	No.	4	AGR/ N1005	Minor	500	Rs. 2,000.00
24	Safety Shoes	Size- (S, 6, 7.8, 9), Colour-Black	No.	4	AGR / N9903	Minor	800	Rs. 3,200.00
25	Solvent Cement	Size - 250 ml,	No.	4	AGR/ N 1005	Minor	90	Rs. 360.00
26	read	Length of Thread : 1000 mtr Colour : All	No.	4	AGR/ N1005	Minor	40	Rs. 160.00
27	Connector	Type: Plastic Threaded Y Tubing Connector, Size- 2 inch	No.	4	AGR/ N1005	Minor	250	Rs. 1,000.00
28	Gromate	Material: Plastic, Size: 12mm . Colour : Black, Natural	No.	40	AGR/ N1005	Minor	180	Rs. 7,200.00

29	Pressure Gauge	Hydraulic Pressure Gauge, Size - 150 ml, PVC, Nominal Size of the Dial - 50 millimeter, Measurement Range (kg/cm2)O to 1.0, Type of Pressure Element - Bourdon TubeMeasurement Range (Bar) O to 25,	No.	4	AGR/ N1005	Minor	1200	Rs. 4,800.00
30	Fertifizer Tank/ Ventury	Capacity: 60 litre, Coated with more than 70 micron thick deep blue coloured epoxy powder from both inside and outside surface for protection against corrosion and weather effects, High pressure hose assembly inlet / outlet connection.	No.	3	AGR/ N1005	Minor	2500	Rs. 7,500.00
31	Drawing Sheet	Art Paper, Size of Art paper -A3,	No.	4	AGR/ N1005	Minor	3	Rs. 12 00
32	Chart Paper	White, Yellow	No.	40	AGR/ N1005	Minor	5	Rs. 200.00
33	Pencil	Shape of pencil - Hexagonal	No.	40	AGR/ N1005	Minor	3	Rs. 120.00

34	Rubber	Regular size(LxWxH) (mm) Material of Scale: Plastic, Size of Scale	No.	4	AGR/N1005	Minor	5	As. 20.00
35	Scale	(mm): 300. Thickness Of Scale (mm): 1. Overall Length of Scale (mm): 30, Width of scale (mm) -2.S Type of Ink used in Markers Water based.	No.	4	AGR/N1005	Minor	10	Rs. 40.00
36	Colour Marker	Writable Surfaces For Markers White board. Colour•. Red, Blue. Green . Yellow Length - 10 meter, Width- 50 centimeter.	No.	4	AGR/N1005	Minor	22	Rs. 88.00
37	Bandages	Mass (GSM) (gm/sq. mtr) 52, No. of Dressing Rolls in a pack (Nos) 10	No.	4	AGR / N9903	Minor	20	Rs. 80.00
38	Adhesive Bandage	Length (mtr) 4. Width (cm) 8, Composition Blend of Cotton & Rayon.	No.	4	AGR / N9903	Minor	100	Rs. 400.00
39	Antiseptic ointment/ liquid	Size: 1000 ml, Plastic Bottle	No.	4	AGR / N9903	Minor	180	Rs. 720.00
40	Pain relief spray/ Ointment	IS gm. Omnigel	No.	4	AGR / N9903	Minor	60	Rs. 240.00

41	Respiratory Masks	Half mask, Air purifying respirator. Pack Of	No.	4	AGR / N9903	Minor	200	Rs. 800.00
42	Helmet	Protective Helmet with Face Cover. Shell	No.	4	AGR / N9903	Minor	1200	Rs. 4,800.00
	Source: PSSCIVE						Total	Rs. 2.48,740.00